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fresh Question Booklet. o 1
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without its envelope.
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first page of the Answer Sheel. | |

9. For each question, darken only onz circle on the An~aee Sheet, I[ you darken more than one circle
or darken & circle partially, the answer will be reaed a8 meanel : .
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11. For rough work, use the innce back paze of the title cover and the blank page at the end of this
Bonklet.
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13. You are not permitted to leave the Examinaticn | af) vatil the end of 1h¢"'l‘c sL. 1
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Total No. of Printed Pages : 40 (35 Eie = il AT J€ W RE T 8

gcollegeduniae

India’s largest Student Review Platform

—



14U/94/44i)

ROUGH WORK
™ w5

L ]
gcollegedunlaé
India’s largest Student Review Platform

—



14U/94/4(i)
No. of Questions : 100
sl | AT ;100

Time : 2 -;f Hours Full Marks : 300
w9 2% woe | quriE : 300

Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section-A and 70 in section-B). Attempt as many
questions as you can. Each question carries 3 (Three) marks.
One mark will be deducted for eack incorrect answer. Zero
mark will be awarded for each unattempted question.

gq uyr-giasm & @ 100 () g9 2 (@@ # 3079
TUE-q # 70) | STHWIF T B & H{H & 9IH 6L ) IQF
ge-1 3 (W) ot &1 B g% 7o 9uv F AW @& 9w
Brer AT TAT AT 997 B Udis YT @l

(2) If more than one alternative answers seern 10 be approximate to
the correct answer, choose the closest one.

Ife aFIfes depieuss ITT TB! I & MHe Haig &1, A FremeaH
it TAT T

3 P.T.O.
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01.

02.

Section-A
EHUIS~H

Indian education put emphasis upon ®
(1) The tradition of Indian society

[2) To give Honour to clders & teachers
(3) Cultivation of values

(4) All of the above

AdE finn e A £

(1) 9IRdE qa9=1 & 909 O3
(2) JAANS TF §Sf H THE g7
(3) W Gepia @ dade qv
(4] IUeT T#H 97

"Every school ! subject has a disciplinary valuc,” it means, that :
(1) It brings discipline among students

(2) It teaches certain habits and qualiti .
alitics to tr :
students 9 ain the minds of

(3} Every subject is the outcome of the work of disciplined thinkers

(4) [t requires disciplined methods of tcaching

;ﬁ;w%%:ﬁw%m%%mwmam%ym
(1) 3% gt J srgeneas o @

(2) waﬁ%qﬁﬂwﬁ@mqﬁgﬂﬁmm%
(3 mmmm%mwm%

(4) ﬁajanﬁraﬁlwﬁf&aﬂmﬁwﬁeﬁ%

4
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G3. A teacher should plan his lesson before he goes to his class, because
it helps him to :

(1) Satisfy parents

(2} Create happiness in the classroom

(3) Achieve curriculum goals

(4) Assign home work and classroom work

TF FEE B w A Y {959 @ 9w wiw ) Gt 3w R
WA s 9% IuR "o Hean D

(1) RMESR H T & §
() = H T T Hed |
(3) 9ISHHRH F Weq @ ;T |
(4) T¥HE OF FAEY g B H

04. For becoming a good teacher, the most important quality of a person
is :
{1) Genuine interest in teaching
(2} Knowledge of his subject
(3) Ability to control students
(4) Ability of good expression

?quﬁ%m,%maﬁmwm
() RBravr 7 sfaa sy 8

2) Reg & w9 &

(3) BEt FH Fefa @ & gegar B

(4) =8 stvaafya &t g &

5 P.T.0,
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05. If [ will become a teacher my most preferred activity will be to
(1) Give important questions to students before examination
(2] Dictate notes in the class
(3) Clear their difficulties regarding subject-matter

(4) Make student disciplined

it & ©F FeTE g9 W O 87 §9d geder s s
(1) 98 9 9ex o= A qeEye wvw Far 3

2) =0 ¥ AgH AT

(3) P axy 8 gwfug 370 HeTEs N @ wEn

(4) ®E F AqIMHT T

06. [f a student gives wrong answer to your question yot: will
(1) Scold him for not having lcarnt his lesson properly
(2) Explain why his answer is wrong
(3) [gnore the wrong answer

(4] Ask another student to answer and ignore him

AR TH B INID 99T B TAd I@T 3% B a9 a7

(1] 38 39 e B A A 7 92 & R =02

(2) FE T ®HE % Jad I @&t e 2

(3) TG IR 9X g qd 2

(4) Wzﬂimﬂﬁaﬁzéﬁaﬁﬁﬁeﬁ—{aﬂaﬂaﬂwaﬁﬁ
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07. You are teaching a topic and a student asks a question unrelated to
the topic. What will you do ?

(1] You will permit him to ask unrelated question
(2] You will not permit him for this
(3] You will consider him as undisciplined and punish him

(4) You will answer the question after the class

HIY FeT ¥ % 90 T © & X o o= gt § rEaa 997
HIAT & | AT FT BT 7

(1) A IQ FFafaa ueq e Bl gl <R
(2) ST IR AT g7 I8 A gk T8
(3) MY SW FHH e e &R

(4) 9 FHEAUT FEH I &

08. What type of teacher would you like to be ?
(1} A teacher who teaches the whole curriculum
{2) A teacher who helps his students in learning
{2) Teacher who is a friend, philosopher and guide of his students

(4} A teacher who maintains good discipline.

o R TR 1 NS FAA et ¢

(1) H=OF A1 6 Q@ qEgwn FHl TFEl 8

(2) eATgE S i # et A werar Hir B
(3) AT S BEl o fE, Rt ol TES @
(4) STAYEH N HEBT STJATEA TERAT 3

7 P.T.D.

L]
gcollegedunlae
India’s largest Student Review Platform

—



14U/794 /4(i)

09. At authoritarian level teaching is :

(1) Teacher centered (2) Child- centered
(3] Headmaster centered (4) Experience based
Frigger =7 a1 Ry -

(1) e dfmg Dar @ (2) &= BfEa & 2
(3) FaMTEE B ST @ (4 W i &

10. In order to modify the undesirabl :
e beh
effective method is - aviour of a student the most

(1} To find out the reasons for the undesira
- i ble behavi
vide remedies siraole behaviour and pro-

(2) To bring it to the notice of parents
(3) To punish the student
(4} To ignore it

wﬁf%mﬁmw%ﬁa&a%mﬁmﬁmﬁﬁm%

1) AgiTST ;
(1) W%mmwmaﬂmwm

(2) erTTasl w5 g s
(3) B W Ivg 9y
(4} THR IUET HEAT

11. Secretly is to openly as silently is to :

(I) scarcely (2} impolitely

{3} naisily (4) quietly

MR M giem 3 /a2 9 P -

(1} Zotwam 3 R 2 (2) or=ar $ Ry 2

(3) gwie & T 2 (4) mf~T 3 Ry 2
8
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12. Which number would replace questton mark in the series
7,12, 19, 2 39

I¥aras B M 9T AP TAE

(1) 29 (2) 28 (3) 26 4) 24
13. Mind : Body ::
(1] Water: Air (2) CPU: Hard Disk
(3) Ship: Oil (4) Software : Computer
7 : I
(1) 9 : &&= (2) g : sEfees
(3) TS : AN (4) Hiweagy @ FPER
14, Life is related to Death in the same way as Hope is related to :
(1) Sad (2} Despair (3} Pain (4] Cry
g 1 TN gog 9 © Sl TN A Heta 8
(1) g& @ 2 Fawa @ A 4) o |
18. FAG, GAF, HAL IAH,
(1) JAK (2) HAL (3) HAK (4) JAL
o g ofi, shgow, 09 Q o, I T QY, ....... Prszarss

(1) F TP 2) TgQUN (3) THT R 4) I T 3m

16. Which word does NOT belong with the others ?

(1) guitar (2) flute (3) violin (4) sitar
frer & | A o @ TElaa T 8 ?
(1) PRR 2 =g (3) AR (4y FHa

17. Which word does NOT belong with the others ?
(1} leopard (2) Jaguar (3} clephant  (4) lion

9 P.T.O.
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ﬁwﬂﬁﬁﬁmmmﬁmw%?

(1) < () dgem  (3) =l [4) 9
18. Child : Family :;

(1) Flower : Bunch (2) Bird : Set

(3) Calf: Herd (4) Deer : Gang

=7 : yREr

(1) G : BT 2y T : wge

(3) =BTT : goz (4) wrg : o

19. If S is the brother of N, the sister of N i
ot s M, the b :
the daughter of S is P then who is the uncle of J I;Pﬂler of Pis J and

(1) J (2) S (3) N (4) ™
R 9T H oA B, q |
TE B st b T g
(1) = ) 9 3} 7 4 =

20. 3, 19, 101, ?
(1) 100101 (2) 10201 (31 10202 4) 11012

21. Thefullformof NTSE is -
(1) National Technician Search Education
(2) National Teacher Search Examination
(3) National Talent Search Examination
{4) National Talent Selection Examination

T A ad € P QR e

(1) %aﬁa%ﬂ;ﬁﬁmﬂ‘cf'zg%m
(2) AT Frae w v ery
(3) T 3R wF gaeniades

4) AR 3@ g sFMfAYe

10
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22, EDUSAT satellite was launched on
(1) 20% September, 2003 (2) 20" September, 2004
{3} 20™ September, 2005 (4} 20* September, 2006

23.

24,

TH g Td T H e

(1) 20 =Y, 2003 & BT Tar or
{2) 20 =R, 2004 B Rsar 19y o
(3} 20 farSR, 2005 | Brar T o
(4) 20 =R, 2006 B BT W oo

NIOS is known as :

(1} National Institute of Open Schooling

(2) National Institute of Qpen School

(3) National Institute of Overseas Schooling
(4) National Institute of Open Scholars

T A1E N OF AT STan B

(1) AT LG e oM T
(2) AT FEATGE ol N9 T

NEUPA was established in :

(1) 1976 (2) 1986 (3) 1996

U7 H TG ES ©

(1) 1976 % (2) 1986% (3} 1996%
11

14U/9474{l)

(4) 2006

(4) 2006%

P.T.Q.
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25, Who is the present director of NCERT ?
(1) Prof. J.8. Rajput
(2) Prof. Parvin Kiran Sinclair
(3) Prof. A. K. Sharma
(4) Prof. Krishna Kumar

T ¥ 1. .49, $ FRere @ 2 7
(1) . .99, Tog (2) AN. F=&HF B R
(3) . T. H. gl (4} A, T FHR

26. The theme of the 11™ global mentitoring report 2013-14 of UNESCO

was !

(1] Teaching and Learning : Achieving quality for all
(2) World Peace : Education and value

(3] Environmentai Pollution

(4) Women Empowerment and Education

@Eﬁriﬁmﬁaﬁmﬁwﬁtﬁémmdﬁmwﬁwm
(1) ST e afh  ofafi gafed o offg

(2) a2 d : R o 8wy

(3) ST e

(4) T PUETI= s oI

27. Who wrote the famous book -~ ‘We the people’ ?

(I} T.N. Kaul (2) J.R.D. Tata

(3) Khushwant Singh {(4) Nani Palkhivala

“dl ¥ GgE” e AR TEE BrEY Rl o 7

(1) o 7o FT = (2) o WMo Hlo e 7

(B) Gyawa fye & (4} -0 geREdERT 3
12
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28. The Cabinet of which state in March 2012 decided to give a grant of

29.

Rs. 30,000 to high school pass Muslims girls for perusing their
education and marriage ?

(1) Uttar Pradesh (2) West Bengal
{3) Andhra Pradesh (4) Delhi

BFa e & \Er oReg } W 2012 0 w1 @ p a gRaw sEnedt
H IR e @ R @ A 30,000 T@ & FIE T A o

footg form ?
(1] I©R UQY (2) qf¥ew ST (3) T WRW (4] Reed

National Institute of Mental Health and Neuro Sciences is situated at :
(1} Lucknow (2) Bhopal {3) Bangalore (4) Delhi
ANEE FREIYe Ol Hew ¥ow wos g wigd Raa ® ¢

(1) F@TST (2) MO H (3) s ¥ (4) R #

P.W.D. Act, 1995 is related to :

(1] People's works department

(2] People's welfare department

(3) People with Disabilities

(4] People with disease

flo s5go o QT 1995 I Haw B
(1) Mg Ty fBudA=< |

(2) gee ATBER urdaw |/

(3) Hyw fw Recfgd |

4) dge B dw A

13 P.T.O,
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Section - B
HUs-q

31. The results of 10 students in a test are listed below. Determine the
value of x if the mean score is 76 ;

Iomﬂ%mmﬂmﬁaﬁﬁ%@w f
8 @ x|/ A I HR | 1 e ofw 76

Score Number of students
45 1
65 2
75 3
x 4
(1) 80 (2) 85 (3} 90 (4) 95

32, What is one of the distincti
chions between a population
ar.
a sample statistic ? pamsmeter and

(1) A population parameter is only based on conceptual
measurements, but a sample statistic is based on a combination
of real and conceptual measurements.

(2) A sample statistic changes each time you iry to measure it, but a
population parameter remains fixed. ’

(3} A population parameter changes each time You try to measuye it
but a sample statistic remains fixed across sampies |

4 .
(4) The true value of sample statistic can never be known but the
true value of a population parameter can be kngwn.

14

-
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TF Y 9= oF o vt qiftmea @ S o eva g 8 7

(1) % &9 A1 Haer oites At X Amife @ & wg o
syl wifedl afas o dafs ot ) wyw =v @
SRT &ar 7 )

(2) = nfoest FifmaT 0l IR TRafda & § o oy =& Ay
H PN FR & g & T g AET dar 2

(3) TH 9N guw 9% AR qRafia gar ¥ o o 3 Ay <6

mm%mwmmmﬁmm
I

(4) T uidey @iEHT o araid® 79 B9 sra S Brar o
THT YO U §HY Q199 @ adide W9 g 8 9T 3

337 The value of a correlation is reported by a researcher to be r = -0.5.
Which of the following statements is correct ?

(I} The x-variable explains 25% of the variability in tﬂe y-variable,
(2) The x-variable explains -25% of the variability in the y-variable.
(3) The x-variable explains 50% of the variability in the y-variable.
(4) The x-variable explains -50% of the variability in the y-variable.

G HAAYE BT e@=-° & I r=-0.5 AR 141 o=y 3 Q@ 45
AT TFTH @ & 7

(1) x99 y-TT T 25% TRad=shear aaer &
(2) x-®T y-=X B -25% IRadrehaan sy 2
(3) xR y-90 W 50% FRad-sierr & ¥ )
(4) x-TX y-TX W -50% IRaesHorar F@mEr )

15 P.T.O.
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34. One use of a regression line is -
{1) To determine if any x-values are outliers.
(2) To determine if any y-values are outliers.
(3] To determine if a change in x causes a change in y.
[4) To estimate the change in y for a unit change in x,

THIEY QT FT TH ITGRT 2

(1) F& M= 3 &6 w7 B x3m ey 8

(2} & FivEa & B Far B yum gee B

(3) ggﬁrﬁaamﬁswaaﬁéqﬁaﬂqyﬁqﬁaﬁawm

|
(@) xﬂm%qﬁaﬁ?%f%ﬁyﬁqﬁaﬁﬁﬁa#mﬁml

38, Which of the following is NOT correct about constructing histograms?
{1) The approximate number of classes js 1+3.3 log (n).
(2] All class intervals should be of equal width.
{3) The bars of the histogram are centred over the midpoint,

(4] The first and last classes should ;
extreme points. be open-ended to account for

ST R R e & Preafufea # R ar od a8 8 2
(1) a‘ﬁﬂﬂwzﬁmawua.siog(npa;haﬁﬂl ‘
(2) MMWWWW%@%W.
(3) 9T S & @z 7 Ry W S @ afed

36. If you buy one ticket in a game, the probability that yvou will win &

prize is 0.11. If you buy one ticket each month f
: 12 or five
1s the probability that you will win at least one prize ? PotiTe What

afz eng fhef Soh & fehe @i § O s QIERT
A % MRRAET 0.171 | afg ang B &
BLVLRIR ﬂéﬁ%ﬁmgmg%m%mmw@ﬁaﬁm%

QTfAeRaT =T @rf ?
(1) 0.55 2) 050 ' (3) 0.44 (4) 0.45

16
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37. If the distribution function of a random variable X is given by :

? if x<-8
F(x)=1 E[%HJ if|4<6,0>0
1 if x>8

Then P (x >9-1) is equal to :

vea LW a1 1 1

1) liff<—;—if8>=— s z 1

(1) 2 o 923 (2) Sgif8<3 nfea2
S T 1 1
Diff<—:— = = 2 1

(3) Ditb<o 23”22 (4) zﬂnt‘ﬂ«:2 lif82-

g T qgfee® 9T X w1 ST B Rar g

? ifx<~@
F}(x)=~-£(-§+l) if 46,60
1 if x>8

\

o Pix>g-1) I o9 8P 4

i ]

Im-a‘:— — — = a— =

(1) i oa TRO2 2 ) zﬂzﬂ’e‘:a««:2 SELITS.

1 1

ik —_— — - s i s

(3) 0 9":2 ze‘lﬁﬁa (4) ‘l'ﬂe 2 ﬁ‘ﬂaz
17 P.T.0O.
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38. if X, and X, are independ . g
2 pendent random vari
generating functions ables with momen:

3 i )
M,()=(2 + ¢ =[d4lg
10 (4**45} and M’(t}-[I+E¢J'!ER' respectively, Then the

value of P(X, + X=1) is :
W WA AKX, AR X, B oyt A et ma M.(t)=[%+%=’)
Memo=(21te) ek, ¥ @
2 a 4 )fEN Al PX, + X=1) &1 "A19 Fpm
35 35 j
i & 3 ?
m @ 3 @ 6z) @ ofy]
39. Which of the following is not a necessary assumption underlying the
use of the Analysis of Variance technique ?
(1) The sample are independent and randomly selected,
(2) The populations are normally distributed.

(3) The variances of the populations are the same.

(4} The means of the populations are equal.

18
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41.

42.

14U/94/ 441)

If there are 6 treatments and 4 blocks in a randosni ]
ornized bl
then degrees of freedom for error is : B

Th qgieeE @oe AR ¥ 6 STER w4 @vs # a @
Hl GIEHTSST Bl
(1} 12 {2) 15 (3) 24 4) 6

Inatestof Hy: p = 0.4 against H_ : P # 0.4, a sam '
" 4, ple of size 100
produces Z = 1.28 for the value of the test statistic. Thus the p-value

(or observed level of significance} of the test is approximately equal
to:

H:p=04% & H,: P#0.4 D 0T & g% 100 1T 7 feresf
wlierr Wi ® A B RA z2=1.28 v w2 W gER
TOHT 0 p-A (47 Sraefha Al &1 w@Y) o SqeT 8
(1) 0.90 (2) 0.40 (3) 0.05 (4) 0.20

In a statistical test of hypothesis, what happens to the rejection region
when g, the level of significance is reduced ?

(1) The answer depends on the value of f.

{2) The rejection region is reduced in size.

(31 The rejection rcgion is increased in size.

{#) The answer depends on the form of the altemative hypothesis.

MFHETTN B T WiieFHE qlwer § orlighr &5 @ w3 B @
Aafh o, AT W WL FH HT BT oA

(1) 8 & I W Ia¥ fasix wear B

(2} STEIBRT @9 FFR 7 H7 & e T

(3) srdigiy & THR 7 Afas & e 2

(4) IR Afges aftmea @ w9 W AR w5 &

19 P.T.0,

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U/94/4(i)

43. The number of traffic accidents per week in a small city has a Poisson
distribution with mean equal to 1.3. What is the probability of at
least two accidents in two weeks ?

(1) 0.2510 (2) 0.3732 (3) 0.5184 (4) 0.7326

44. Which of the following are true statements about sampling error ?

A. Sampling error can be eliminated on ly if a survey is both extremec N\
well designed and extremely well conducted.

B. Bampling error concerns natural variation between samples, is
always present and can be described using probability,

C. Sampling error is generally smaller when the sample size is larger.
{1 AandB 2) AandC (3) BandC (4) A,BandC

ﬁﬁmm%aﬁ?ﬁﬂ'&mﬁmaﬁrwﬁhmaﬁhmﬁr

vl & )
g, mg&mzmm%mﬁm@fmman
(1) AGE B (2) AWEC (3) BudcC (4) A, BUgC

45. We wish to draw a sample of size 6 without replacement from a
population of 50 households. Suppose the households are numbered
01, 02,.............. » 90 and suppase that the relevant linc of the random
number table is showing the digits 11362 35692 96237 90842

46843 62719 64049 17823 Then the number of the selected
households are :

(1) 111336622335 (2) 11362308 42 46
(3) 11 3623 56 92 96 (4) 1135234246 19

20
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S0 & TF W | ¥ 6 WX F OF weyt BT ghvens
Ffy &rv qra @ aed ¥ we AR s et e 01,02,
snmﬁmm%Wwﬁmmﬁﬁﬁﬁﬁsmgﬁm
qEgr 9ol T UG 9fRT 11362 35692 96237 90842 46843

62719 64049 17823 TGN &l qrhen B ot g9 gu a3 =) wwand
g

(1] 1113 366223 35 (2) 113623084246
(3) 113623 56 92 96 (4) 1135234246 19

Are all employees equally prone to having accidents ? To investigate
this hypothesis, we looked at the following classification of the
accidents by the type and the age of the employees.

Age Accident Type

Sprain Burn Cut
Under 25 9 17 5
>=25 61 13 12

A chi-square test gave a test-statistic of 20.78. You may assume that
the tabulated value of chi-square at ¢« = .01 is approximately 9.0,
What is your conclusion if you test at ¢ = .05 ?

(1} There appears to be no association between accident type and
age.

(2) Age seems to be independent of accident type.

(3] Accident type does not seem to be independent of age,

{4) There appears to be a 20.78% correlation between accident type
and age.

21 P.T.0.
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wwmmﬂ%mmm%mﬂ% ? 74
W#a‘h%ﬁﬁmgﬂw%mqﬁmﬂwﬁtﬁaﬁm
P g Freafifga afel & 3= ¥

FHST F 9K
Y 9 AW % A qrq
25% H9 9 17 5
»=25 61 13 12

qzﬁchi-aﬁwﬂwﬁaiftqaﬁmwmmzo.?smgamm
q% |9 G & % chi-avf =ir s a4 ¢ =019 HHg-FHxq 9.0
%lwﬁmwmqﬁma-.oswmm%?

(1) W%m@mﬁﬁﬁmﬁﬁaﬂéwmﬁ
il

2) T FHN B 9BR A Telw vy dew 2
(3) gézmmrmrmﬁﬁﬁaueﬁﬁﬂﬂé\mﬁl
4) W%me%mzmwwmma.

47, IfL, = 6,93,435 and L, = 6,90,673 then what is the probability that a
person of exact age 20 will die within one year ?

(1) 0.00762
(2) 0.00123
(3) 0.00398

[4) The probability cannot be obtained on the basis of this
information.
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48.

49,

14U/94/4(1}

4R Ly = 6,93,435 A% 1, = 6,90,673 & & 9 I & MG T
ol B 20 af 1 o A ww ad } g & ara @ @ 7
(1) 0.00762

(2) 0.00123
(3) 0.00398
(4) FH GO @ oUW T Wikl 9Ter Ad 5t oy weEne

Increasing the number of periods in 8 moving average will accomplish
greater smoothing, but at the expense of :

{1) Manager understanding (2) Accuracy
{3) Stability (4) Responsiveness to changes

O W ST F BI-TEF B HE B TP @ S9™T gEan
et oig fread 9w 91 ¢

(1) S=oF H grserd (2) yuredar
(3) e (4) IR=< @ afafiear
Given the data
Commodities
A B
p0 1 1
q0 10 5
pl 2 X
ql 5 2

where p and q respectively stand for price and quantity and subscripts
stand for time periods. Find x if the relation between Laspeyre's (L]
and Paasche's (P) index numberis L : P:: 28 : 27,

1) 4 (2] 12 3) 7 4) 6

23 P.T.O.
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r=d 3fihe o
]
A B
p0 1 1
Q0 10 S5
pl 2 X
ql = 2

ST8T p AT q wwer: d qEr & Y od g RiREt e 95 @
€1 x O afe qrafrg (L) oF P} 9Fi® |
% & g L:P:: 2827 B ] & —

(1) 4 (2) 12 38) 7 4 ©

§0. The Central Limit Theorem states that

(1} if n is large then the distribution of the sample can be
approximated closely by a normal curve.

(2} ifnis large, and if the population is normal, then the variance of
~ the sample mean must be small.

(3) if n is large, the sampling distribution of the sample mean can
be approximated closely by a normal curve.

(4) if nis large, then the variance of the sample must be small.

Iy ST 6 R HIar B

(2) IR 8 fix
@atéﬁgf 1 I 99H & @t wiemst amem o sy

{3) aﬁnwaﬁmﬁaﬁmwnﬁmmmw
% Y AT & a5 3 -

(4] u&nwaﬁmww@a@mm%ql
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51. If r=mn"[li1¥x),m¢n %’:-is
()0 2y
(1) ';- (2) -l:; (3) —-;-
52. The value of Ieain’ﬂ d0jg ;
]:esin’a 4 =5 qry B
W 3 @ S @ =

$3. The whole length of the curve y? = x? (a%-2x%) is :

TH Y = x? (a?-2x7) TT g B

KA fia
(1} =a (2) Y (3 7

54, ify = sin (a sin‘! x), then (1 - x?)y} is equal to :
IR y=sin (asinlx), A (1-xYy? (=T B :

(1) (1) (2) e (l-y?)
@) e?{1-x} (4) a?{1 +y)

14U/94/44i)

(4)

-

(4) 4ma

rT.0,
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6S. T ' L]
he radius of curvature of the curve x + J; =] at [E'I] is :

am&+@=zaﬁammmrag[},}]waz

Ny 1 1
(1) B (2) e (3) > {4) :’_15

36. The eccentricity of the circle x? + y’=a%’is:
Iqd x*+y2=a? P IDHAAT 8 :
(1) © {2) <l (3) >1 (4) 1

37. A bullet hits and gets embedded in a solid block resting on g
frictionless surface. In this process :

(1) Momentum is conserved
(2) Kinetic energy is conserved
(3} Both momentum and Kinetic energy are conserved

(4) Neither momentum nor Kinetic energy is conserved

T W R Aafe o Sy ? oF NN Fme
AT St B ) 59 ufspan o = e

(1} M7 w3

(2) wfowr ot G 2

@) TN AT @ R Tt v 2

(4) qamm&aamaamwﬁfmg,

26

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U/94/4fi)

58. If the particle at O is in equilibrium then the magnitude of Q is:
R0 g 7 Bt w1 Rvmren A ¥ aw G owr oRumr &

e
2P "
P

60"
O

—'_

Q

1) J7p 2) 5P 3] Jap 4) 22p

59. A body is projected horizontally with a velocity of 4m. / sec. The velocity
of the body after 0.7 second is (take g =~ 10m. /sec,?)

TF s 4 o 9 §F°% & 37 A AR Ry # For oten 31 Qe
FH 9T 0.7 FR0T I¥E O (g= 10m./sec? FPMW)

(1) J37m./sec. 2} J61m./sec.
(3} V63 m./sec. (4) .J65sm./sec.

60. The value of the determinant :

265 240 21
240 225 198
219 198 181

qRioeE & 99 B

(1) 20 ) 25 3) © (4) 1

27 P.T.O.
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61. The set of non-singular matrices :
(1) forms a group under addition
(2) forms a group under muitiplication
{3) forms abelian group under multiplication
(4) does not form a group under multiplication

ﬂﬁfﬁﬁ'\iﬂﬂ\ﬁﬂﬂﬂgﬁm

(1) A & =l oF TE an B

(2) T F ST OF @S TR 2

(3) T & It wfRRET Ty T 2
(4) T & or=ri u wqE Té wwer B

62. The rank of the matrix js -

0 2 3
i 4
0 6- 9
0 2
anag—gg: i P
(1 0 (2) 1 3) 2

63. if a, b are elements of a group G, then (ab)! =

WX a, b PRl WE G, B m@gT & @ (ab)* =
(1} ap! (2) blal (3) ab

28

(4) 3

(4)

ba!
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1 2 3 4
64. The order of the permutation [ ] is :

65.

1 3 4 2
; 1 2 3 4
W(1342Jaﬁa%’rﬁ%:
(1 (2) 2 3) 3 4) 4

Every subgroup of a cyclic group is :

{1)] normal

(2) not normal

(3) normal only when the order of the subgroup is prime

{4) normal when group is of prime order

o T S8 TS ITEYE R

(1) ST

(2) HEEI TEt

(3) WU B[ TG IIHIE W Wi i B
4] AEFFE 59 9YE S B T 3

. The number of generators in infinite cyclic group is :

(1) 1 (2) 2
(3] infinite [4) not definite
st T s ¥ S B de ¥
(1} @& 2 &
3) o (4) s Tl
29 P.T.O.
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X Xx

67 N
Let multiplication in G= {[ ]:IE IR, x# 0} be multiplication of 2 x

X X
2 matrices. The identity element of G is -

T4 forar G={[‘ j.-xem,ncJ ® I 2% 2 av=gt A To% B o

A

G H T 999 & :

1 1]
(1) 12 f {2) [l I} 3 [I X ;Y
13 1] ) o 4 [ﬂ 1]
68. The surface represented by the equation YZ¥+2x + xy = 0 is
| :
:3; :In:: (2) cylinder
phere (4) ellipsoid
Hmyz+zx+xyz0m =i g B
{1) sy (2) &=

(3) =T (4) g

® o ®
1 2:2 2 ’
(I1] a +bm2+c=n2=pﬂ (2) —+ﬂl_ _"_z._pl
&8 b ¢
f.“ m;‘ n?
3 Ftiz+t—=5=p
a b ¢ (4) lm+ml+n]=p"
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70. The shortest distance between the lines :

2 3 43 4 5
2 1 3) 3 4 5

71. The length of the perpendicular from the point (4, -5, 3) to the line

x-3_y+t2_2z-6
3 4 § 2

frg 4.-5,3) 9 @

x-5_y+2 _z-6
3 -4 )

W G R T @ TEn 8
Ja7 (2) ﬁ (3)

S 7

72. The angle between the planes

3x-4y+5z=0,2x~-y-2z=51is:
! 3x-4y +52=0,2x-y-22=5 % &< H HT § :

4 =

|

m 5 2 3 @)

31 P.T.O.
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73. The distance between the parallel planes 2x - 2y + z + 3 = § and
4x -4y +2z+5=0is:
T TR TAA 2x- 2y +2+3=090 dax -4y + 224 5=0 & #g
IR A |

1 1 ]

1 - — — -
(1) 3 2 < (3) 3 {4) 3

74. The image of the point P (1 , 3, 4) in the plane 2x -y +z +3 =0 is :
g P(L,3,4) o1 nfafera aaa@ 2x-y+z+3=0 F & :
(1) 1,5,2 (2) (-3,5,2)
8) (1,4,7) 4) (2,85, 8)

75. The equation of the plane through the point (1, 1, 1) and
perpendicular to the line
X=2vy+2=2,4x+3y-2z+1=0is:
g (1,1, )R @Y 1Y At ofX @1 x-2y+2=2,4x ¢ By -z +
1=0 B TG g B aieeor B

(1) x-5y-11z+15=0 (2) 2x-3y+7z+8a0
(3) 2x-8y+9z=18 4) 2x-Sy+7z+7 =0

ni—l

76. For the sericé Z

n?+1
n? -1
‘a'ﬂﬁ an'f‘l % I%-a
Jim U, =
(1} © (2 -1 3 1 4) o

32
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1 5 9 13
-+ —-—+—+—+4+ ... 1% -
77. The series 576 10 1a 16 ;

(1} convergent
(2] divergent
(3} oscillatory

(4] neither convergent nor divergent

1 5 9 13
Syafy R AR TRy 2
(1) ST (2) STEr)
(3} A (4 T ANEE 7 A omgErd)

1
78. The senes ZF is convergent if :
!
ofy > — aiftrard ¥ afy
y]
() p>1 (2) p2t 3) p<1 (4] pxli

; - L.
79. Hfu, =3 [n +l)-n and o T T , then il " is :

R o, =3[ +1)-n o = @ Bm=T ¥

Ay

1 1
M 1 (2) % @ 3 4 3

33 P.T.0.
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2_1 A3 4.4
80. For the series K+21 X +4x F e
21 3! 4!
2 ¥xP 4% -
ﬁ’“ﬂx+2!+§!+4!+ ......... %ﬁ-ﬁ
lim——=
u, +1
n = @ < 3 -
X X 3) ex
i
81. The solution of differential equation is % . +y:.
dx 1+x
RN W 3 '
HEHTH ix lrd TET 8B R

(1) y+x=c(l+xy)
(B) y-x=c(l +xy)

82, The singular solution of the equation ¥ =Ppx "‘% is ;

_...a |
mﬁasmy—px-*;mrféﬁam%:

(1) y:Ck-i-E (2) )’=X+£
C
3] yP=x?+c¢ (4) y?= 4ax

34

{2) y-x=c(l - xy)
4) y+x=¢(l1-xy)
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83. The orthogonal trajectory of r = a (1 - CO8Q) is ;
t=a(l -cosg) T A*TFH AFH 2 -
(1} r=ec(l+cos®) (2] r=c(1-cos6)

(3) t=(1+ccos’9) (4) r =csin’s

|
84. The order and degree of the differential equation :—§+ J X +[d—y]3 =0
X dx

is

ﬂﬂﬂﬁﬂ‘ﬁﬂ)‘{ﬂrgz—f-ﬁ x+[§-] =0
X
@ B X g 7 -

() (2,2) 2) (8,2 3) (2,3 4 (1,3
88. The integrating factor of the different equation (M+ K’)% +y =tan’'x s

HAFAT W (I+x’}%+r =1a0"X ] VAT TOTF § :

{1) == (2) == (3) etanz {4) tanx

35 P.T.0.
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86. Differential equation of the orthogonal trajectory of the family of curves

d
f(x,y.dy}ﬂ s

X

dy)_
(1) f(w-gj-ﬂ @) f(x,y,-%]-:o
(3) f[x,}r‘ _] = D ( Ei!] =
(4) fx.y,dxz 0

87. &(bx¢) is equal to -

8(5x) s B

(1) & (axb) (2) -(ﬁxE)j‘: (3) (Exb)ﬁ 3) Ex(iﬁ)
88.let 7= xi+yj+2zk. Then div 1=

A R F=xi+yi+zk o9 div -
(1) 1 2) 2 3) 3 4) 4

89. Curl i3 is equal to

Curl xd qUET & -
{1) 23 7) T (3) 33 (3 _z

36
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90. Directional derivative of ¢ ~xyz? in the direction of vector 27 +j-kat
the point {2, 3, 1) is:

qfest 2i+j.k AR A (2,3, 1) « ¢=xyz' T Reg-avaeseer &

1 4 2
1 By @ -7 @ Z )

Sl

91. The vectors 2i-j+k, i+2j-3k and 3j + g+ 5k are coplanar ifa =
R 2.k, i+2j-3k MR 3i+g+5k Gooha ¥ a2 a -
(1} 1 (2} 3 (3] ~4 4} 5

92. The volume of the parallelopiped whose edges are rcpresented by
A=2i-3j+4k,b={+2j-k &=3-j+2k is:

T PO R § =20 - 3]+ dk b=i + 2k, £=3i-]+2k BR WaRE
2, B AEE ¥

(1) 5 2y 7 (3} 9 4} 11

93. The minimum value of |Z-1| + |z| for complex values of z is :
T e 2 3 R |z-1) + (2| B =g AW R

(1) 2 (2) 3) 0O (4) 1

2

27 P.T.O.
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(1) © (2) 2 3) 4 (4) fix)

95. lt'x=rcosﬂ,y=rsine, then :

ox,y) _
a(r,8)

yid X=rcos0,y=rsin@, oV :
3(-:!.?}:
&(r,8)

(1) r (2)

g —

B = 4) r

[ =)

96. If x=rcos8, y=rsing, the :

[BIT (81‘)1

—— +| — =

ax dy

qf% X=rcosO, y=rsin@, o :
(ﬂ 2+ ar 4
d x 5; -

1) © 2 1 (3) -1 4) 2

38
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97. Number of constants in s : : :
of degres i s ts In singular solution of an differential equation

98. The function f (x) = Ix|,atx=01ig:
(1) continuous and differentiable
(2} continuous but not differentiable
(3) neither continuous nor differentiable
(4} only differentiable

ot f(x)= {x|, x=09T B :
(1) T T JAGHaNg

(2) §O9 T @Eg 1
(3] I M FIT T A Ay
(4) daT NFFANY

99, I‘;le time period of an SHM of intensity u and amplitude a is equal

n WA o o ek A AT omad R G e awEc R

222 2x a*? 2ma Ix

=7 @ 5 e g Ol

21 L
100, [ f ) ax = 2f (xydx if
b ¢ )

f {2a-x) is equal to :

a 1
!f(x)dpzju’f(x}dx if gfr

{{2a-x) IAET B
(1) f(2a) (2) f(x) (3) -fx} 4) -f(2a)

39 2000
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10.

i2.
13,
id.

Fvaidat & fom o
(¥R AT 3 wer FPAToT Y98 O 7oy Ja7-9% & 7 et gy
ST Fivh- s aer-ange 47 @ 3 g
¥ e Fred & 10 e & s @ Bw & fon ywew | wit ve v # ek Y
T 21 T @) Y g O S T SHE e e wa-Frers @ Qs st
AYIT ) A gfeaa sra #R
O S | o oy wiw-ox & s, @ @ W@ W @ gen F oy
4 7 &
3T- 7% 3pvns & ey v &y R 7 9 7Y AR T W) Fage w1 gRr ave- o T e o
A TAT-OX &7 ¥ qrarET A Indm
Y1 A T FR-TT 3 HAiS TYT RW-98 T 49 | Fraffim o w ferd)
IN-TX & 79w g 97 §3 R oW FPEwE (el v av ford’ aer A9 £ gt 7
ﬂmﬁgfx el- ol IraRew wt apl 7vI-gf@E T wHE owm Qe w7 A0 B W
9T e
dlo Qe FTo TX T APHAI® WEW, FYTYRIST HSN T N HE (W2 =Y &) 10
mﬁmwm T Fo Wo ATe wH TEM ¥} WAk ¥ IufivieT & Tl
4
Jugm: AfEfEat 4wy 0} aftadT w§ S g s f SR e Ay v e
T & WO T WA
W - gl % e W & arv AwiR0w 307 34 md &1 yeiw v & Anirw 3w i e
STt FAT- WA B gADE IWE & ww? B3 1 39 % IA0-97 ¥ 0oy 9= @ i3 W
R & agwre 47 & T &ow
nﬁmm%m-%méﬁﬁ@;aqﬁﬁwaﬁl@%mqﬁ@wmﬁ
R T TF g0 H 3Pl T R a8 IR T =1 I
T ¥ 165 T% A wrwl Qe Siww T a7en 97 0 wwwm ¢ of A feet 99 o a9
787 &3 wp 4, =} wafom o & arrd 29 M3 e oot B et oy 2R vy aT g
I 12 wrda;
& w1 % g wva-gfem 3 qaue § st amn T IR & Iifim
W ¥ B = =
T & I Faer i qw I IT-ww GO waw § o AR 2
TR T B W 9B WO o ¥ A I # SR A e

ate ¢ arvaell e & srfad el @ , al & favafaoray
& Fue, s S ok WU e
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